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0. SemEmEEEEEREEENEIES
= H16~H20 H21~H25 H26~H30 R2~R6 R7~R11 R12~R16 R17~R21 R22~R26 R27~R31

R zaL—2ar]

(1) Re~ReA B X IRIER

R2~ROLRGLIGER | = MR x [HEEORBRBE = ( H6~HIOGREMH + R2~ROTMTFAIN ER T
127,625,000 = 5F  x 25,525,000 = ( 433 + 588 ) x 25000

(2) RI~RIIREEFHIRILE

X

RI~RITIRME | = 4R x [BEEOREBEBE = ( R~ROEMTAN + RI~RUGBRTHY ) x HREE
= 5F  x 40,700,000 = ( 588 + 1,040 ) X 25000
(3) RI2~RI16HE EF5IRHEE
= MM x [BEEORBEBE = ( RI~RUGRTFHR + R~RIGERTHN ) x HREME
297,500,000 = 5% X 59,500,000 = ( 1,040 + 1,340 ) X 25000
(4) R17T~RA KRB EF5IRHEE
RIT~R2UZHEMEE| = #M x [BEEOREBEBRE = ( R~RIGERTHY + RUT~RAGRTIR ) x EREME
= 5F  x 66,500,000 =« 1,340 + 1,320 ) x 25000

(5) R22~R26R B EF5 R4S

R22~R26IZELAEE | = HIR x |HEEORBXBE| - RI7T~R2EEI PR + R22~R26IRH TR gLt
270,250,000 = 5% x 54,050,000 = ( 1,320 + 842 ) % 25000

(6) R27T~R31 R B EF5IR 4

= B x |BEEORBEBHE - R22~R2GECIMTAM x EIREE
= 5% X 21,050,000 = 842 X 25000

X

(6) REXBIRHMRE

R = R2~ROIRHEHEE + RI~RIVRHEAEE + RI2~RIGIRHEMEE + RIT~R2URHHEE + R2~R26IRHtH088 + R27T~R3VRHLILER
1,336,625000 | = 127,625,000 + 203,500,000 + 297,500,000 + 332,500,000 + 270,250,000 + 105,250,000
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